A Serpentine Stumper
by Jonah

A serpent slithered through some of the sixteen squares in the structure south of here,
entering through one of the sixteen side doors and exiting from another. The serpent stopped
in some squares a single time each, and skipped the others. Single out the entrance and exit,
and solve for the serpent’s path.

For support, the serpent scribbled statements in each square. But stay sharp! Statements
in squares skipped by the serpent are all spurious! The others are all sincere. Can you suss
out a suitable solution to this serpentine stumper?
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